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1. Whichof the following substances conducts electricity in solid state?

A. Sulphur

B. Graphite

C. Phosphorous
D. lodine

The electronic configurations of elements Wand X are2: 8: 3and 2: 6
respectively. The formula of the compound formed between Wand X is

A. W3X2
B. W2X3
C. W2X
D. WX3

3. Which of the following nitrates does not produce oxygen when strongly

heated?

A. KNO3

B. Ca(N03)2
C. Cu(NO03n
D. NH4NO03

Calculate the number of moles of sodium hydroxide contained in 2S.0cm of
0.2M sodium hydroxide solution.

A. 0.005moles
B. 0.02moles
C. 0.5moles
D. 0.25moles

5. Concentrated Nitric acid was added to Iron (I1) Sulphate solution. State what
was observed.

A. Abrownring

B. A brown solution
C. Agreenprecipitate
D. A greensolution.

6.  Which one of the following substances when heated does not undergo a
permanent change?

A. lodine

B. Copper (I1) nitrate
C. Zincoxide

D. Calcium

Towml 6adet! from www.brai nshareonline.com



10.

11.

12.

Which one of the following substances given below can burn in carbon
dioxide?

A. Aluminium
B. Magnesium
C. Zinc
D. Lead

Graphite conducts electricity because it

A. Has hexagonal carbon rings
B. Issoft

C. Has mobile electrons

D. Isopaque

Which one of these is used to test oxygen in the laboratory?

A. lime water

B. glowing splint

C. cobalt (Il) chloride paper
D. burning splint

Element W has electronic structure 2: 8: 3. What is the formula of the ion
of ?

A. W3 B.
W+
C. W D.
We2.

Chlorine atom as electronic configuration of 2: 8: 7. The electronic
configuration of the chloride ion (Cl) is

A 2.8 7
B. 2:8:6
C. 28:. 8
D. 2:8:5

Which one of the following acids will react with calcium carbonate to
produce the least volume of carbon dioxide gas?

Dilute Sulphuric acid
Dilute Hydrochloric acid
Dilute Nitric acid
Dilute Ethanoic acid

oo w»
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13.  When 8g of salt was dissolved in 100g of water, the temperature decreased
by 10°C. 'l he drop in temperature when 2g otrhe salt isdissolved in 100g

of water is

A. 10°C B.
8.S0e C. s.00eD.
2.S0e

14.  The full symbol of an atom is 39 Z The number of protons. electrons and
neutrons in the ion formed by Z are.

Electrons Protons Neutrons
A. 19 19 20
B. 18 19 | 20
C. 19 18 20
D. 18 20 19
15.  Which one of the following gases is produced when Zinc nitrate is heated
strongly?
A. Nitrogen

B.  Dinitrogen oxide
C.  Nitrogen monoxide
D.  Nitrogen dioxide

16.  Which one of the following salts can be prepared by synthesis?

A. Lead (Il) lodide

B. Ammonium nitrate C.
Sodium carbonate D.  Iron (1)
chloride

17.  To which of the following groups and periods in the Periodic table does an
element with atomic number 19 belong?

Group II, Period 4
Group I, Period 4

Group 1V, Period 2
Group Il, Period 2

SO w>

18.  Which one of the following is a property of carbon dioxide? It

is less dense than air

is neutral to litmus paper
reacts with sulphuric acid
reacts with burring magnesium

oow>
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19.  Which one of the following oxides will not react with water?

A. Sulphur dioxide

B. Nitrogen dioxide

C. Calcium oxide

D.  Zinc oxide downloaded from www.brainshareonline.com



20. 2.07g of a metal Z combined with oxygen to form 3.02g of oxide. Which one of the
following is the formula of the oxide of Z? (0 = 16,Z = 52)

A.  Z203
B. Z302
C. 2,0
D. 2z02

21.Which one of the following cations, when in solution will not form a precipitate on
reacting with sodium sulphate solution?

A. Ca? .
B. Pb2+
C. BaZ+
D. Zn?»
22. Which one of the

following sodium salts will react with dilu hydrochloric acid to form a gas that turns
potassium manganate (V. colourless? ;

A. Sodium chloride B. Sodium nitrate
C.  Sodium sulphite
D. Sodium carbonate

23. Which of the following gases will not reduce Copper (Il) oxide to coppe-
A. Hydrogen

B.  Carbon monoxide

C.  Carbon dioxide

D. Ammonia

24.  Which of the following is not a large scale use of chlorine?

A.  Electrolysis of sodium chloride

B. Manufacture of bleaching powder

C. Purification of drinking water

D. Manufacture of plastics

25.  The anion which can be formed by the brown ring test is

A. Chloride
B. Sulphate
C. Nitrate

D. Carbonate

26.Which one of the following pairs of the substances IS used for the laboratory
preparation of chlorine?

A. Dilute hydrochloric acid and potassium manganat (V1I)

B. Concentrated sulphuric acid and sodium chloride

C. Dilute hydrochloric acid and sodium sulphite

D. Concentrated hydrochloric acid and potassium manganate (VII)

27. Butane undergoes cg% %%'18% f?g(ﬁ%)rd'n%.brtgiH%F}a];%gﬂﬁvﬁg%or%quatlon;



The mass of butane required to produce 950kJ of heat is
(H=1, C=12, 1moleof butane produces 2877KJ of heat.)

A. ‘ 950x8 g
|2 x 2877
B. (950 x 581
2877
C. | 950 x 58 x Zg
D. (2877 x 58 ¢k
L 950

28. Which one of the following oxides when heated will react with carbon to form a brown

solid?

A. CuO
B. Zn0O
C. PhO
D. FeO

29.  Which of the following is not a property of carbon?

It reduces conductivity.

It reduces Iron (ill) oxide

It burns in air to form a basic oxide
It shows allotropy

Cow>»
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30 which one of the following equations shows tile reaction in which
sulphuric acid is behaving as an oxidising agent?

\ (‘U (s) :ji‘%(lg .’(I(!' heat 5 (U\( )_: faa) + \( ) (g) + :II,[’)‘ \

B. Zn(s) + H,S0, (aq) > ZnSO0y (ag) + H,0 (s)

HxS0, (ag)

————> CHy(2) +H0 (I)

heat

C;H<OH (1)

D.  Mg(s)+ H,80; — > MgSO, (ag) H, ()

31. Magnesium bums in air according to the equation:

2Mg (s) +  02(9) ——=2MgO(s)

The mass of oxygen required to bum 5gof magnesium completely is
[0 = 16, Mg =24]
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32. Which of the following compounds can undergo polymerization reaction?

A. CH4

B. C2H4

C. C3Hg

D. C4H10

33. The volume of 0.01 NaOH solution that is required to react completely with 25.0 cm® of 0.02 M
hydrochloric acid is

A, 12.25cm3
B. 25.0cm3
C. 50cm3
75.0cm3
34.  Ammonia reacts with copper (Il) oxide according to the following equation.
2NH3 (g) + 3CuQrs) R 3H20(1) + N2(g) + 3Cu(s)
The volume of ammonia ats.t.p that will react with 6.0g of Copper (1)
oxide is

(H=1N =14, 0 + 16, Cu = 64, 1mole of gas occupies 22.4dm? ats.t.p)

A 3.36dm3
B. 552dmS
C. 1.68dm3
D. 1.12dm3

35. Solution Y forms a white precipitate with silver nitrate solution. The precipitate
is insoluble in nitric acid. Y is likely to contain

A. cl-
B. 8042

C. NOg
D. CO03%

36.  Which one of the following is likely to be the pH of dilute Hydrochloric acid?

OO P
Oo~NoON
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37. When 5.74g of a hydrated salt X was heated. 3.22g of the anhydrous salt
Y was formed. The number of moles of water of crystallization in X is
[Y=160 O0- 16,H =]

A 2

B. 5

C. 7

D. 10

38. Which one of the following oxides is soluble in both dilute nitric acid
and dilute sodium hydroxide solution?

A. Copper (ll) oxide B.

Magnesium oxide C. Calcium oxide
D.  Zinc oxide

Turn Over

39.  Potassium aluminium sulphate is used in the purification of water for

A. removing colouring matter

B. killing harmful bacteria

C. removing suspended water

D. softening water

40. The mass of sodium hydroxide present in 200 cm of a 0.05M
sodium hydroxide solution is [H = 1, O =16, Na = 23]

A. 025gB. 0.40gcC. 2.00g D.

10.00g

Each of the questions 41 to 45 consists of an assertion on the left hand side and the reason on the
right hand side.

A. If both the assertion and the reason are true statements and the reason is a correct
explanation of the assertion.

B. If both the assertion and the reason are correct statements but the reason is not a correct
explanation of the assertion.

C. If the assertion is true but the reason is not a true statement.
D. If the assertion is not correct but the reason is a true statement.
INSTRUCTIONS SUMMERISED
Assertion Reason
A True True (Reason is a correct explanation)
B True True (Reason is not a correct explanation)
C True Incorrect
D Incorrect True
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41. Graphite and Diamond Graphite and
Show different because Diamond are
Chemical properties allotropes of carbon
42. Ethene changes colour of Ethene is a
Bromine water from reddish - because hydrocarbon
Brown to colourless
43. Ammonia is prepared by Calcium hydroxide
Reacting ammonium salt because is a base
With calcium hydroxide
44. When Sodium peroxide is Sodium peroxide
dissolve in water, because reacts with water (o
A gas is evolved. form Hydrogen
45. Concentrated sulphuric acid sulphuric acid
Can be used to because reacts with
Dry Ammonia. Ammonia
In each of the questions 46 to 50 one or more answers given may be correct.
Read each question carefully and then indicate on your answer sheet according to the
following:
A. If 1,2, 3 are only correct. B. If 1,3
are only correct.
C. If 2, 4 are only correct. D.  If4
only is correct.
INSTRUCTIONS SUMMERISED
A B C D
1,2,3, 1,3 2.4 4

Only correct

Only correct

Only correct

Only correct

46. Which of the following is/are true about electroplating of iron with silver?

47.

Silver is made the anode.
Iron is made the cathode

BN

Silver nitrate solution is used as electrolyte

Iron (I1) sulphate solution is used as electrolyte

Which of the following usually causes water pollution?

Phosphate detergents
Magnesium sulphate
Sewage.

W

Calcium hydrogen carbonate
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48.  Which of the following statements is/are true about elements in Group
(1) in the Period table?

Have similar chemical properties.

Have the same number of energy levels.

Their ions carry the same number of charge
Their reactivity increases as you go up the group

el N

49.  Which of these undergoes a physical change when heated strongly?
Copper (I1) Nitrate

Ammonium chloride

Potassium chlorate

Zinc Oxide

Eal A

50. Which of the following is/are true about polyethene?

1 It is athermo - softening plastic
2 It is a thermosetting plastic

3. It is a hydrocarbon

4 It conducts heat and electricity
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